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¼foŸkh; ys[kkadu½ 

Bachelor of Business Administration  
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First Semester, Examination, 2017 

Time : 3 Hours   Max. Marks : 80 

Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Define ‘Accounting’ and explain its characteristics in 

detail.  

^ys[kki)fr* ls vki D;k le>rs gSa \ ys[kk i)fr dh 

fo’ks”krk,¡ foLrkj ls Li”V dhft,A  

2. Distinguish between cash basis and accrual basis of 

Accounting.  

udn izkfIr ds vk/kkj ij ys[kkadu rFkk mip;k/kkj (accrual 

basis) ij ys[kkadu esa D;k vUrj gS \ 

3. What are the source documents of Accounting ? 

Explain the various types of sources documents.  

ys[kkadu gsrq vk/kkj nLrkost (source documents) D;k  

gSa \ fofHkUu izdkj ds vk/kkj nLrkostksa ij izdk’k Mkfy,A  

4. Following is a Trial Balance of M/s. Damodar Prasad. 

Prepare Final Accounts as on 31-3-2017 : 

 ` 

Stock (1-4-2017) 23,500 

Purchases  46,800 

Sales 1,30,000 

Productive Expenses 27,000 

Unproductive Expenses 5,800 

Trade Expenses 1,200 

Returns In  6,600 
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Return Out 2,800 

Loose Tools 7,200 

Trade marks  5,000 

Discount (Credit)  2,100 

Salaries  9,600 

Fixed Deposit with Punjab National 

Bank 10,000 

Cash in Hand  1,300 

Motor Vehicles  50,000 

Leasehold Land 60,000 

Capital  1,37,450 

Life Insurance Premium  6,000 

Freight In 1,100 

Freight Out  3,000 

Rent (Factory 1/3; Office 2/3) 7,500 

Legal Expenses 800 

Miscellaneous Receipts   500 

Sundry Debtors  30,000 

Sundry Creditors  12,200 

Donation  600 

Bad Debts  4,750 

Bad Debts Recovered  4,000 

Sales Tax Collected 3,900 

Bank Charges  2,800 

Loan on Mortgage  20,000 

Interest on Loan 2,400 

Value of closing stock was ` 36,500 on 31-3-2017.  
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Hints :  

(i) Life Insurance Premium will be treated as 

drawings.  

(ii) Sales Tax collected is a liability as it has to be 

deposited in treasury by due date. 

(iii) Loan on mortgage is a liability, whereas interest 

on loan is an expense.  

O;olk;h nkeksnj izlkn ds O;kikj lEcU/kh fuEukafdr ryiV 

ds vk/kkj ij fnukad 31&03&2017 dks lekIr gksus okys 

foŸkh; o”kZ ds vfUre ys[ks rS;kj dhft, % 

 ` 

LVkWd (1-4-2017) 23,500 

Ø; 46,800 

foØ; 1,30,000 

mRiknu O;; 27,000 

vuqRiknd O;; 5,800 

O;kikj lEcU/kh O;; 1,200 

fcds eky dh okilh 6,600 

Øf;r eky dh okilh 2,800 

[kqys vkStkj  7,200 

VsªMekdZ  5,000 

NwV ¼ØsfMV½ 2,100 

osru 9,600 
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lkof/k tek ¼iatkc us’kuy cSad esa½ 10,000 

udnh 1,300 

eksVj xkM+h 50,000 

yht dh Hkwfe 60,000 

iw¡th  1,37,450 

thou chek izhfe;e  6,000 

eky <qykbZ ¼Ø; ij½ 1,100 

eky <qykbZ ¼foØ; ij½ 3,000 

fdjk;k ¼dkj[kkuk 1/3] dk;kZy; 2/3½ 7,500 

fof/kd O;; 800 

fofo/k izkfIr;k¡ 500 

ysunkfj;k¡ (Debtors) 30,000 

nsunkfj;k¡ (Creditors) 12,200 

pUnk@nku 600 

v’kks/; _.k (Bad debt) 4,750 

v’kks/; _.k izkfIr 4,000 

O;kikj dj tek fd;k (Sales Tax collected) 3,900 

cSad pktsZt 2,800 

jsgu ij _.k (Loan on Mortgoage) 20,000 

_.k ij C;kt  2,400 
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fnukad 31&3&2017 dks vfUre jgfr, (Stock) dk ewY;  

` 36,500A 

uksV % 

(i) thou chek izhfe;e dks O;olk; Lokeh }kjk fd;k x;k 

vkgj.k (Drawings) ekuk tk,xkA 

(ii) O;kikj dj (Sales Tax) tks izkIr gqvk gS mls ns;rk 

ekuk tk,xk D;ksafd mls fu/kkfjr frfFk rd jktdks”k eas 

tek fd;k tkuk gksxkA  

(iii) jsgu ij _.k O;kikj dh ns;rk gS tcfd _.k ij 

C;kt O;kikj dk O;; ekuk tk,xkA  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. What do you understand by Closing Inventory ? 

Illustrate the principles involved in its valuation.  

vfUre jgfr, (Closing Stock) ls vki D;k le>rs gSa \ 

vfUre jgfr, ds ewY;kadu esa iz;qDr gksus okys fl)kUrksa dks 

Li”V dhft,A  
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2. State in detail four main causes of providing 

depreciation.  

ewY; kl ds pkj eq[; dkj.kksa dk foLRkkj ls o.kZu dhft,A  

3. Why and by whom is an Income and Expenditure 

Account prepared ?  

vk; vkSj O;; [kkrk D;ksa vkSj fdlds }kjk cuk;k tkrk gS \ 

4. Explain Revenue Expenditure.  

jktLo O;; ds lEcU/k esa foLr`r fVIi.kh@fooj.k fyf[k,A  

5. What are capital losses and revenue losses ? Give three 

example of each.  

iw¡thxr ?kkVk ,oa jktLo ?kkVs ls vkidk D;k rkRi;Z gS \ 

izR;sd ds rhu&rhu mnkgj.k Hkh nhft,A 

6. Name the various books of original entries.  

ys[kkadu esa izFke izfof”V dh iqLrdksa dk mYys[k dhft,A  

7. What is Accounting Cycle ?  

ys[kkadu pØ D;k gS \ 

8. What is the end product of Financial Accounting ?  

foŸkh; ys[kkadu dk vfUre ifj.kke fdl :i esa izdV gksrk 

gS \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 



 [ 8 ] BBA–103 

B-59 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Fill in the blanks with appropriate words or phrases.  

fjDr LFkkuksa dh iwfrZ mfpr ‘kCnksa ls dhft,A 

1. Amount which the proprietor has invested in a business 

is known as ............. . 

O;olk; Lokeh O;kikj esa tks /kujkf’k fuos’k djrk gS mls 

dgrs gSa 
-------------------- 

A 

2. ............. refer to those liabilities which are to be paid 

normally within one year.  

,slh ns;rkvksa ftUgsa lkekU;r;k ,d o”kZ ds Hkhrj gh pqdk;k 

tkuk gksrk gS 
------------------ 

dgrs gSaA 

3. Salary paid to Mohan will be debited to .............. A/c. 

eksgu dks osru dk Hkqxrku djus ij 
-----------------

 [kkrs esa MsfcV 

fd;k tk,xkA 

4. Cash received from Surender as rent will be credited to 

........... A/c.  

Jh lqjsUnz ls udn fdjk;k izkIr gksus ij 
----------------- 

[kkrs dks 

ØsfMV fd;k tk,xkA 

5. Journal is a book of .............. 

jkstukepk 
-----------------

dh iqLrd gSA  
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Indicate the correct answer of the following :  

fuEufyf[kr dk mŸkj lgh fodYi pqudj nhft, % 

6. Purchase of goods from X for cash should be credited 

to ............. A/c. 

(a) Purchase 

(b) Cash  

(c) X 

X ls udn lkeku Ø; djus ij fdl [kkrs dks ØsfMV fd;k 

tk,xk \  

¼v½ Ø;  

¼c½ jksdM+ 

¼l½ ,Dl 

7. A bank reconciliation statement is prepared by :   

(a) Bank  

(b) Customers of the Bank  

(c) Creditors  

(d) Auditors  

cSad lek/kku fooj.k buesa ls fdlds }kjk rS;kj fd;k tkrk 

gS \ 

¼v½ cSad 

¼c½ cSad ds xzkgd 

¼l½ ysunkj 

¼n½ vads{kd  
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8. A Trial Balance is  a :  

(a) Real Account  

(b) Nominal Account  

(c) List of Balances  

ryiV ¼Vªk;y cSysal½ fuEu fodYiksa esa ls D;k gS \ 

¼v½ okLrfod [kkrk ¼jh;y vdkmUV½ 

¼c½ ukeek= dk [kkrk ¼uksfeuy vdkmUV½ 

¼l½ [kkrksa ds vo’ks”kksa dh lwph  

9. Object of promoting depreciation is :  

(a) To calculate true profit  

(b) To show true financial position the Balance Sheet  

(c) To reduce tax burden  

(d) All of the above    

ewY; kl dk izkfo/kku ys[kkadu esa fuEu eas ls fdl dkj.k 

ls fd;k tkrk gS \ 

¼v½ ‘kq) ykHk Kkr djus gsrq  

¼c½ vkfFkZd fpV~Bs ¼cSysal ‘khV½ esa O;kikj dh lgh foŸkh; 

fLFkfr n’kkZus gsrq 

¼l½ djksa dh ns;rk ?kVkus ds fy,  

¼n½ mi;qZDr lHkh dkj.kksa ls  

10. Total depreciation under the diminishing balance 

method on a machinery of ` 8,000  at the rate of 10% 

p.a. after three years will be :  

(a) ` 2,400 
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(b) ` 5,600 

(c) ` 2,168 

(d) ` 5,832 

,d e’khu ftldk Ø; ewY; ` 8]000 gS] dk nl izfr’kr 

(10%) dh nj ls ?kVrs gq, ewY; kl dh fof/k ls 3 ¼rhu½ 

o”kZ esa fdruk ewY; kl gksxk \ 

¼v½ ` 2]400 

¼c½ ` 5]600 

¼l½ ` 2]168 

¼n½ ` 5]832 
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